Assessment Solution

Submitted work: 
 PE_Labels & Names (Completed).xlsx
Assessment source: 
 Chapter Assessment (Labels and Names) 

General Comments:
In this assessment the student is required to open a workbook and create range names, and then apply those range names to both new and pre-existing formulas. The workbook has three worksheets. The first sheet contains labour rates in two columns. The student must use the labels in the first column and apply them as range names to the corresponding cells in the second column. The other two worksheets have an identical layout but contain different values. The student is required to create a named constant and then use that together with the data in the two worksheets to create formulas that calculate labour costs. Once the formulas are created the student must apply range names to the formulas. The student is also required to create identical worksheet range names in both of the identical worksheets. Finally the student must create a new worksheet with a list of range names pasted into it.
Key Assessment competence measures:

	1.
	Range names created in the cells in the Labour Rates worksheet

	2.
	A named constant with a value of 27.5%

	3.
	The creation of formulas using the named constant

	4.
	The application of range names to existing formulas in the two identical worksheets

	5.
	The creation of range names in the two identical worksheets that are scoped to the worksheet level

	6.
	The creation of a new worksheet with the range names from the workbook pasted into it


Key assessment competence:

	1.
	The ability to create range names from labels in a column

	2.
	The ability to create a named constant in a workbook

	3.
	The ability to create formulas using the named constant

	4.
	The ability to apply existing range names to formulas in a worksheet

	5.
	The ability to create range names scoped to the worksheet level

	6.
	The ability to paste a list of range names into a worksheet.


The student’s submitted work will have three worksheets as follows:
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This is the Labour Rates worksheet. The student is required to use the names of the trades people in column A and apply them to the rates in column B. This can be checked by clicking on the Names box drop arrow to see a list of range names as follows:

[image: image2.png]%g‘ f« | Labour Rates

Carpenter I ¢ | D
Electrician

Plasterer

Plumber

Tiler

o rade ‘Hourly Rate
5 Electrician 4450
6 Plumber 67.80
7 Tier 55.95
'8 Carpenter 4785
9 Plasterer 39.80
0

1

12





This will provide a list of the names. However, to see the range details of these names you can use the Names Manager command in the Define Names grouping on the Formulas tab of the Ribbon to see the full details.
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The names of the trades people should appear in this list together with an indication that the range is located in the Labour Rates worksheet (=’Labour Rates’!...).

The second worksheet is named Project 1 and should appear as follows:
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£ Work Hours Cost  On Costs Total
6| Construct Framework 123 5.885.55 1618.53 7.504.08
7 Inital Wiring 2 111250 30594 141844
8 Inital Plumbing 55 372900 102548 475448
9 Plastering 84 334320 91938 426258
10 Final Wiring 2 890.00 2475 11375
11 Final Plumbing 12 81360 2374 103734
12 Final Fitout 45 218325 59214 274539
13 Tiing 65 363675 100011 45636386
14 Total 2156385 593006 27,493.91
15

3|




The On Costs and Total columns should contain formulas created by the student. The On Costs column must contain a formula that is based on a constant named OnCostRate and with a value of 27.5%. If you click in cell C6 the formula should appear as shown:
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Work Hours Cost  On Costs Total
6 |Construct Framework 123 5.885.5] 1616531 750408
7 Initial Wiring 2 111250 0594 141844
8 Inital Plumbing 55 372900 102548 475448
9 Plastering 84 334320 91938 426258
10 Final Wiring 2 890.00 2475 11375
11 Final Plumbing 12 81360 2374 103734
12 Final Fitout 45 218325 59214 274539
13 Tiing 65 363675 100011 45636386
14 Total 2156385 593006 27,493.91
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The formula in E6 which calculates the total should appear as follows:
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Work Hours Cost  On Costs Total
6 |Construct Framework 123 5.885.55 1,618.53] 7504081
7 Initial Wiring 2 111250 30594 141844
8 Inital Plumbing 55 372900 102548 475448
9 Plastering 84 334320 91938 426258
10 Final Wiring 2 890.00 2475 11375
11 Final Plumbing 12 81360 2374 103734
12 Final Fitout 45 218325 59214 274539
13 Tiing 65 363675 100011 45636386
14 Total 2156385 593006 27,493.91
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The totals in row 14 for Cost and On Costs were in the worksheet originally. However, the student is required to create worksheet names for these columns and to apply all of the range names to the formulas in the workbook. As a consequence the formulas when selected should appear as follows:
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5 Work Hours Cost On Costs Total
_6 | Construct Framework 123 5,885.55 1,618.53. 7.504.08
7 Initial Wiring 25 1,112.50 305.94 141844
8 Initial Plumbing 55 3,729.00 1,025.48 475448
9 Plastering 84 334320 919.38 426258
10 Final Wiring 20 890.00 24475 113475
11 Final Plumbing 12 813.60 22374 1,037.34.
12 Final Fitout 45 2,153.25 59214 274539
13 Tiling 65 3.636.75 1,000.11 4.,636.86
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_6 | Construct Framework 123 5,885.55 1,618.53. 7.504.08
7 Initial Wiring 25 1,112.50 305.94 141844
8 Initial Plumbing 55 3,729.00 1,025.48 475448
9 Plastering 84 334320 919.38 426258
10 Final Wiring 20 890.00 24475 113475
11 Final Plumbing 12 813.60 22374 1,037.34.
12 Final Fitout 45 2,153.25 59214 274539
13 Tiling 65 3,636.75 1,000.11 4.,636.86
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The worksheet ranges used in these formulas should appear when the Names box drop arrow is clicked as shown:
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Both the Project 1 and Project 2 worksheets should be identical with similar formulas and range names. The only difference is in the values. Project 2 should appear as follows:
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£ Work Hours Cost  On Costs Total
6| Construct Framework 87 4.162.95 1,144.81 5.307.76
7 Inital Wiring 44 195800 53845 249645
8 Inital Plumbing 27 183060 50342 23102
9 Plastering 94 374120 102883 477003
10 Final Wiring 15 667.50 183.56 851.06
11 Final Plumbing 23 156940 42884 198824
12 Final Fitout 21 100485 27633 128118
13 Tiing 52 290940 80009 370949
14 Total 783390 490432 273822
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The student is required to insert a new worksheet and to use this worksheet to paste a list of the range names in the workbook. Remember, these names will only be the global names as worksheet names won’t appear here. The worksheet should appear as follows:
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